


 



 



1. 800 dh ek/; xksykdkj eksecÙkh 'kfDr okys ySEi dks 10 eh- dh

Å¡pkbZ ij yVdk;k x;k gSA ySEi ds Bhd uhps iznhIr dk ifjdyu

dhft,

(a) 8000 lux (b) 8 lux

(c) 80 lux (d) 800 lux

2. cM+s izR;korksZ eas gkbMªkstu dk iz;ksx eq[;r;k fdl fy, fd;k

tkrk gS

(a) Hkaoj /kkjk gkfu;ksa dks de djus

(b) rjax :i dh foÑfr dks de djus

(c) e'khu dks BaMk djus

(d) pqEcdh; {ks= dks etcwr cukus

3. nks rkj AvkSj B esa leku vuqizLFk dkV gS vkSj os leku lekxzh

ds cus gq, gSaA R
A
 = 800 vkSj R

B
 = 100 A A, B ls

fdrus xquk yEck gS

(a) 5 (b) 6

(c) 2 (d) 4

4. vkÑfr esa n'kkZ, x, ifjiFk eas] izkjfEHkd fLFkfr 'kwU;

ekudj] tc fLop t = 0 ij can gks rc {kf.kd /kkjk i(t)

Kkr dhft,

50V

5

0.5 H

0.08 F

(a) 50te–0.5t (b) 50te–5t

(c) 100te–5t (d) 100te–0.5t

5. ,cj&eksy ekWMy fdl ij ykxw gksrk gS

(a) JEET

(b) BJT

(c) NMOS VªakftLVj

(d) UJT

1. A lamp having mean spherical candle power of

800 is suspended at a height of 10 m. Calculate the

illumination just before the lamp

(a) 8000 lux (b) 8 lux

(c) 80 lux (d) 800 lux

2. Hydrogen is used in large alternators mainly to

(a) Reduce eddy current losses

(b) Reduce distortion of wave form

(c) Cool the machine

(d) Strengthen the magnetic field

3. Two wires A and B have the same cross-section and

are made of the same material. R
A
 = 800 and R

B
 =

100. The number of times A is longer than B is

(a) 5 (b) 6

(c) 2 (d) 4

4. In the circuit shown in figure, find the transient

current i(t) when the switch is closed at t = 0,

Assume zero initial condition

50V

5

0.5 H

0.08 F

(a) 50te–0.5t (b) 50te–5t

(c) 100te–5t (d) 100te–0.5t

5. The Ebers-Moll model is applicable to

(a) JEET

(b) BJT

(c) N MOS transistor

(d) UJT
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6. ,d DC oksYVehVj eas 1000 @okWV lqxzkfgrk gSA tc ;g

100V jsat eas Qqy Ldsy ij vk/kk ekirk gS] rks oksYVehVj esa

izokfgr /kkjk fdruh gksxh

(a) 50 mA (b) 100 mA

(c) 1 mA (d) 0.5 mA

7. ,d f=dks.k&ekjk ¼MsYVk LVkj½ ifj.kkfe= eas a : 1 dk vUrjdyk

oksYVst ifj.keu vuqikr ¼MsYVk Qst % LVkj Qst½ gS

(a)
a

1
(b)

3

a

(c)
3

a
1

(d)
3

a

8. fuEufyf[kr eas ls dkSu&lh eksVj AC vkSj DC lIykbZ ij Hkh

py ldrh gS

(a) izfr"VEHk eksVj (b) lkoZf=d eksVj

(c) izfrd"kZ.k eksVj (d) rqY;dkfyd eksVj

9. vkÑfr eas n'kkZ, x, ifjiFk dk 'kfDr xq.kd D;k gS\

3

60V

5

V

100V

X  = 6L

(a) 0.75 i'pxkeh (b) 0.6 i'pxkeh

(c) 0.3 i'pxkeh (d) 0.8 i'pxkeh

10. AC ifjiFk dk 'kfDr xq.kd fdlls n'kkZ;k tkrk gS

(a)
R

Z
(b) LX

R

(c)
Z

R
(d)

L

R

X

11. vxzxkeh 'kfDr xq.kd ij ifjpkfyr rqY;dkfyd eksVj dk iz;ksx

fdl :i eas fd;k tk ldrk gS

(a) ;kaf=d rqY;dkfyd

(b) oksYVst cwLVj

(c) dyk vxzdkjh

(d) /ofu tujsVj

6. A DC voltmeter has a sensitivity of 1000 /watt .

When it measure half full scale in 100 V range, the

current through the voltmeter will be

(a) 50 mA (b) 100 mA

(c) 1 mA (d) 0.5 mA

7. A delta-star transformer has a phase to phase voltage

transformation ratio of a : 1 [delta phase : star phase].

The line to line voltage ratio of star-delta is given by

(a)
a

1
(b)

3

a

(c)
3

a
1

(d)
3

a
8. Which of the following motors can be run on AC

as well as DC supply

(a) Reluctance motor (b) universal motor

(c) Repulsion motor (d) synchronous motor

9. The power factor of the circuit shown in figure?

3

60V

5

V

100V

X  = 6L

(a) 0.75 lagging (b) 0.6 lagging

(c) 0.3 lagging (d) 0.8 lagging

10. The power factor of an AC circuit is given by

(a)
R

Z
(b) LX

R

(c)
Z

R
(d)

L

R

X

11. A synchronous motor working at leading power

factor can be used as

(a) mechanical synchronizer

(b) voltage booster

(c) phase advancer

(d) noise generator
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12. vkesZpj izfrjks/k 0.4 dh 150V DC eksVj eas 142V dk

i'p fo|qr okgd cy (emf) gSA vkesZpj /kkjk fdruh gksxh

(a) 100A (b) 10A

(c) 20A (d) 150A

13. nks Mk;ksM ds iz;ksx okys iw.kZ rjax fn"Vdkjh dh rqyuk eas] pkj

Mk;ksM okys lsrq fn"Vdkjh eas fdldk vf/kd izHkko gksrk gS

(a) mPpre n{krk

(b) mPprj /kkjk okgd la/kkfjrk

(c) fuEu f'k[kj izrhi oksYVst vko';drk

(d) fuEu ÅfeZdk xq.kd

14. esxj dh xfr fdruh j[kh tkrh gS

(a) 160 rpm (b) 100 rpm

(c) 120 rpm (d) 140 rpm

15. nks 100W, 200VySEi 200VlIykbZ ij Ük̀a[kyk eas tqM+s gq, gSaA

izfr ySEi dqy fdrus okV fctyh dh [kir gksxh

(a) 200 (b) 25

(c) 50 (d) 100

16. C;ksV lkoVZ fu;e fdldk lkekU; la'kks/ku gS

(a) QSjkMs fu;e (b) fdjpksQ fu;e

(c) ysUt fu;e (d) ,sfEi;j fu;e

17. ,d izsjd ifjiFk dh lfØ; vkSj izfr?kkrh 'kfDr;k¡ Øe'k% 60W

vkSj 80 VAR gSaA ifjiFk dk 'kfDr xq.kd D;k gS

(a) 0.8 i'pxkeh (b) 0.5 i'pxkeh

(c) 0.6 i'pxkeh (d) 0.75 i'pxkeh

18. fuEufyf[kr esa ls fdlds fy, mÙkstu fu;a=.k fof/k larks"kizn gksrh

gS

(a) yEch ykbusa

(b) fuEu oksYVst ykbusa

(c) mPp oksYVst ykbusa

(d) NksVh ykbuas

19. laj{k.k dk og izdkj dkSu&lk gS tks vius {ks= ls ckgj gksus okys

nks"kksa ds izfr izfrfØ;k ugha djrk] Hkys gh] nks"k /kkjk ml {ks= ls

xqtj jgh gks

(a) cSd&vi laj{k.k (b) cl&ckj laj{k.k

(c) ;wfuV laj{k.k (d) tujsVj laj{k.k

12. A 150 V DC motor of armature resistance 0.4 

has back emf of 142 V. The armature current is

(a) 100A (b) 10A

(c) 20A (d) 150A

13. As compared to full-wave rectifier using two diodes

the four diode bridge rectifier has the dominant

advantage of

(a) higher efficiency

(b) higher current carrying capacity

(c) lower peak invese voltage requirement

(d) lower ripple factor

14. Speed of the megger is kept at

(a) 160 rpm (b) 100 rpm

(c) 120 rpm (d) 140 rpm

15. Two 100 W, 200 V lamps are connected in series

across a 200 V supply. The total power consumed

by each lamp will be watts

(a) 200 (b) 25

(c) 50 (d) 100

16. The biot-Savart's law is a general modification of

(a) Faraday's laws (b) Kirchhoffs law

(c) lenz's law (d) Ampere's law

17. The active and reactive power of an inductive

circuit are 60 W and 80 VAR respectively. The

power factor of the circuit is

(a) 0.8 lagging (b) 0.5 lagging

(c) 0.6 lagging (d) 0.75 lagging

18. For which of the following the excitation control

method is satisfactory

(a) Long lines

(b) Low voltage lines

(c) High voltage lines

(d) Short lines

19. The type of protection that does not respond to

faults occuring beyond its zone even though the

fault current may through the zone is

(a) Back-up protection (b) Bus-bar protection

(c) Unit protection (d) Generator protection
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20. ;fn F Hkkj xq.kd gS] rks gkfu Hkkj xq.kd fdl izdkj n'kkZ;k

tk,xk

(a) 0.35F + 0.7F2 (b) 0.25F + 0.75F2

(c) 0.25F2 + 0.85F (d) 0.75F + 0.25F2

21.
1

3
2

vadh; oksYVehVj eas ifBr dh tk ldus okyh lcls cM+h

la[;k D;k gS

(a) 9999 (b) 0999

(c) 1999 (d) 5999

22. uxjh; lsok dh rqyuk eas miuxjh; lsokvkas eas

(a) rVh; le; de gksrk gS ysfdu eqDr pkyu le; vf/kd

gksrk gS

(b) rVh; le; de gksrk gS

(c) rVh; le; vf/kd gksrk gS

(d) rVh; le; vkSj eqDr pkyu le; ds cjkcj gksrk gS

23. prqHkqZt xfr dky oØ dk iz;ksx fdlds fy, fd;k tkrk gS

(a) eky ykbu lsok (b) miuxjh; lsok

(c) uxjh; lsok (d) eq[; ykbu lsok

24. fuEufyf[kr eas dkSu&lh eksVj vis{kkÑr vf/kd izorZu cy&vk?kw.kZ

nsxh

(a) Nkfnr /kzqo eksVj

(b) la/kkfj= izofrZr eksVj

(c) la/kkfj= pkfyr eksVj

(d) foHkDr dyk eksVj

25. PN-taD'ku Mk;ksM eas izrhri vfHkufr eas /kkjk dSls gks ldrh

gS

(a) 2A vkSj 5A ds chp

(b) dqN ekbØks ;k uSuks ,sfEi;j

(c) dqN feyh ,sfEi;j

(d) 0.2A vkSj 2A ds chp

26. izfrd"kZ.k&izofrZr izsj.k&pkfyr eksVj dk iz;ksx fdl dkj.k ls

fd;k tkrk gS

(a) mPp izorZu cy&vk?kw.kZ

(b) mÙke 'kfDr xq.kd

(c) mPp n'krk

(d) U;wure ykxr

20. If F is the load factor, the loss load factor is given

by

(a) 0.35F + 0.7F2 (b) 0.25F + 0.75F2

(c) 0.25F2 + 0.85F (d) 0.75F + 0.25F2

21. In a
1

3
2

 digit voltmeter, the largest number that

can be read is

(a) 9999 (b) 0999

(c) 1999 (d) 5999

22. In suburban services as compared with urban

service

(a) the coasting period is smaller but free running

period is longer

(b) the coasting period is smaller

(c) the coasting period is longer

(d) the coasting period and free running periods

are same

23. Quadrilateral speed time curve is used for

(a) goods line service (b) sub urban service

(c) urban service (d) main line service

24. Which of the following motor will give relatively

high starting torque

(a) Shaded pole motor

(b) Capacitor start motor

(c) Capacitor run motor

(d) Split phase motor

25. The current in reverse bias in P-N junction diode

may be

(a) between 2A and 5A

(b) few micro or nano amperes

(c) few milli amperes

(d) between 0.2 A and 2A

26. The repulsion-start induction run motor is used

because of

(a) high starting torque

(b) good power factor

(c) high efficiency

(d) minimum cost
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27. fuEufyf[kr eas ls D;k vjSf[kd ifjiFk iSjkehVj gS

(a) VªkaftLVj

(b) izsjdRo

(c) la/kkfj=

(d) rkj dqaMfyr izfrjks/kd

28. pqEcdh; ifjiFk ds fdl Hkkx ds mmf Kkr djsu ds fy,

B-H oØ dk iz;ksx fd;k tkrk gS

(a) fuokZr

(b) ykSg Hkkx

(c) ok;q varjky

(d) ykSg Hkkx vkSj ok;q varjky nksuksa

29. ftl VfeZuy ij rhu ;k vf/kd 'kk[kk,¡ feyrh gS] mls D;k dgrs

gSa

(a) tky ¼es'k½ (b) uksM

(c) VfeZuy (d) ywi

30. rqY;dkfyd eksVj ds fy, V-oØksa ds fy, xzkQ fdlds chp

cuk;k tkrk gS

(a) vkesZpj /kkjk vkSj 'kfDr xq.kd

(b) {ks= /kkjk vkSj vkesZpj /kkjk

(c) VfeZuy oksYVst vkSj Hkkj xq.kd

(d) 'kfDr xq.kd vkSj {ks= /kkjk

31. vfr mPp oksYVrk (EHV) lapj.k esa xqfPNr pkydkas ls D;k

feyrk gS

(a) c<+h gqb fdjhV gkfu

(b) c<+k gqvk ykbu izfr?kkr

(c) ?kVh gqbZ ykbZu la/kkfjrk

(d) ?kVh gqbZ oksYVst izo.krk

32. osfYMax fuEufyf[kr ds dkj.k vk¡[kksa ds fy, ?kkrd gksrk gS

1. vojDr fofdj.k

2. ijkcSaxuh fofdj.k

mi;qZDr nks eas ls fdlh ,d dk fuEufyf[kr fodYiksa eas ls p;u

dhft,

(a) nksukas xyr gSa

(b) dsoy 1 lgh gSA

(c) dsoy 2 lgh gSA

(d) nksuksa lgh gSaA

27. Which of the following is non-linear circuit

parameter

(a) Transistor

(b) Inductance

(c) Condenser

(d) Wired wound resistor

28. The B-H curve is used to find the mmf of the

section of the magnetic circuit. The section is

(a) vacuum

(b) iron part

(c) air gap

(d) both iron part and air gap

29. A terminal where three or more branches meet is

known as

(a) mesh (b) node

(c) terminal (d) loop

30. For V-curves for a synchronous motor the graph

is drawn between:

(a) armature current and power factor

(b) field current and armature current

(c) terminal voltage and load factor

(d) power factor and field current

31. Bundled conductors in EHV transmission system

provide

(a) increased corona loss

(b) increased line reactance

(c) reduced line capacitance

(d) reduced voltage gradient

32. Welding is injurious to eye because of

1. infrared radiation

2. ultraviolet radiation

Among the above two, choose the correct one from

the following choices

(a) both are wrong

(b) 1 alone is correct

(c) 2 is correct

(d) both are correct
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33. Mh-lh- ik'oZiFk eksVj dh fu/kkZfjr xfr 1050 rpm gSA bl

e'khu dks 1200 rpm ij pykus ds fy, fuEufyf[kr eas ls fdl

xfr fu;a=.k Ldhe dk iz;ksx fd;k tk,xk

(a) ifjorZu'khy vkof̀Ùk

(b) vkesZpj ifjiFk izfrjks/k fu;a=.k

(c) {ks= izfrjks/k fu;a=.k

(d) okMZ fy;ksukMZ izfrjks/k fu;a=.k

34. vkÑfr eas n'kkZ, x, usVodZ eas fLop 's' dks t = 0 ij can djus

ds ckn /kkjk i(t) fdlh Hkh rkR{kf.kd 't' ij D;k gksxh&

S

i(t)

1

10V 0.01H

(a) 100t10 10e (b) 100t10 10e
(c) 100t10 10e (d) 100t10 10e

35. ,d AC ,sehVj dh jsat c<+kusa ds fy, vki fdldk iz;ksx

djsaxs&

(a) ehVj ij la/kkfj=

(b) /kkjk ifj.kkfe=

(c) foHko ifj.kkfe=

(d) ehVj ij izsjdRo

36. 5H izsjd ij oksYVst

230t ; t 0
v(t)

0 ; t 0

 
 



izkjfEHkd /kkjk dks 'kwU; ekudj t = 5s ij laxzkfgr ÅtkZ Kkr

dhft,&

(a) 312.5 kJ (b) 0.625 kJ

(c) 3.125 kJ (d) 156.25 kJ

37. 10A dh /kkjk dk ogu djus okyh rkj ds 1000 Qsjkas ls cuh

30 cm yEch vkSj 3 cm O;kl okyh ifjukfydk ds pqEcdh;

{ks= eas fdruh ÅtkZ dk laxzg gksxk&

(a) 1.15 J (b) 0.015 J

(c) 0.15 J (d) 0.5 J

33. The rated speed of a given D.C. shunt motor is

1050 rpm. To run this machine at 1200 r.p.m. the

following speed control scheme will be used

(a) Varying frequency

(b) Armature circuit resistance control

(c) Field resistance control

(d) Ward-Leonard control

34. After closing the switch ‘s’ att 0 , the current i(t)

at any instant ‘t’ in the network shown in the figure:

S

i(t)

1

10V 0.01H

(a) 100t10 10e (b) 100t10 10e
(c) 100t10 10e (d) 100t10 10e

35. To increase the range of an AC ammeter you would

use

(a) A condenser across the meter

(b) Current transformer

(c) A potential transformer

(d) An inductance across the meter

36. The voltage across 5 H inductor is

230t , t 0
v(t)

0, t 0

 
 



Find the energy stored at t 5s . Assume zero initial

current.

(a) 312.5 kJ (b) 0.625 kJ

(c) 3.125 kJ (d) 156.25 kJ

37. The energy stored in the magnetic field of a solenoid

30 cm long and 3 cm diameter with 1,000 turns of

wire carrying current of 10 A is

(a) 1.15 J (b) 0.015 J

(c) 0.15 J (d) 0.5 J
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38. fo|qr la;a= eas ;fn la;a= ij vf/kdre ekax la;a= dh {kerk ds

cjkcj gks] rks D;k gksxk

(a) Hkkj xq.kd yxHkx 60% gks tk,xk

(b) la;a= dh fu'p; {kerk 'kwU; gks tk,xh

(c) fofHkUurk xq.kd ,drk gks tk,xk

(d) Hkkj xq.kd ,drk gks tk,xk

39. lcls de egaxh vkaf'kd v'o 'kfDr eksVj dkSu&lh eksVj

gksrh gS

(a) ,-lh- Ükà[kyk

(b) Nkfnr /kzqo

(c) la/kkfj= izofrZr

(d) foHkDr dyk

40. lekUrj ifjpkfyr izR;korkas ds fy, fuEufyf[kr eas ls dkSu&lh

fLFkfr vfuok;Z ugha gS\

(a) izR;korksa eas leku dyk vuqØe gksuk pkfg,

(b) izR;sd e'khu dk VfeZuy oksYVst leku gksuk pkfg,

(c) e'khukas dks leku kVA fu/kkZj.k gksuk pkfg,

(d) izR;korksa dk leku vko`fÙk ij ifjpkfyr gksuk pkfg,

41. 5izfrjks/kd eas ls izokfgr /kkjk Kkr dhft,&

10 A 52

(a) 3.5 A (b) 7.15 A

(c) 5 A (d) 2.85 A

42. pje mPp oksYVst (UHV) ykbuksa eas yxs okR;k ifjiFk fo;kstd
¼lh-ch-½ ds lkFk foyxdkjh dk iz;ksx Ük̀a[kyk esa D;ksa fd;k tkrk gS

(a) foyxdkjh dk iz;ksx djus ls ifjiFk fo;kstd dh
dk;Zfof/k c<+ tkrh gSA

(b) ckf/kd gksus okyh /kkjk cM+h gksxhA

(c) ifjiFk fo;kstd laidks± ds chp varjky de gksxk] ftlls
foyxdkjh dk iz;ksx oksYVst dks can djus ds fy, fd;k
tkrk gSA

(d) ifjiFk fo;kstd /kzqoksa ds chp varjky de gksrk gSA

38. In a power plant if the maximum demand on the

plant is equal to the plant capacity, then

(a) load factor will be nearly 60%

(b) plant reserve capacity will be zero

(c)  diversity factor will be unity

(d) load factor will be unity

39. The least expensive fractional horse power motor

is______motor

(a) shaded pole

(b) A.C. series

(c) capacitor start

(d) split phase

40. Which of the following condition is NOT mandatory

for alternators working in parallel ?

(a) The alternators must have the same phase

sequence

(b) The terminal voltage of each machine must

be the same

(c) The machines must have equal kVA ratings

(d) The alternators must operate at the same

frequency

41. Find the current through 5 resistor

10 A 52

(a) 3.5 A (b) 7.15 A

(c) 5 A (d) 2.85 A

42. An isolator is used in series with Air blast circuit

Breaker employed at UHV lines because

(a) CB life is enhanced with the use of isolator

(b) current to be interrupted will be large

(c) gap between CB contacts is small so an isolator

is used to

(d) gap between CB poles is small switch off

voltage
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43. fofHkUurk xq.kd dk fdl ij lh/kk izHkko gksrk gS

(a) ;wfuV dh ifjpkyu ykxr

(b) mRikfnr ;wfuV dh fu;r ykxr

(c) mRikfnr ;wfuV dh ifjorhZ ykxr

(d) mRikfnr ;wfuV dh ifjorhZ vkSj fu;r nksuksa ykxr

44. izfrjks/kd ;k izsjd Hkkj dh lIykbZ djus okys izR;korZd dk

fu;eu dSlk gksrk gS

(a) vifjfer (b) ges'kk _.kkRed

(c) ges'kk /kukRed (d) 'kwU;

45. Hkkjr eas mPpre ,-lh- oksYVst fdruh gS

(a) 1750 kV (b) 132 kV

(c) 220 kV (d) 400 kV

46. xyr dFku crkb,

o`Ùkkdkj dqaMyh ds dsUnz ij pqEcdu cy gS

(a) mldh f=T;k ds izfrdwy

(b) lh/ks mlds Qsjkas dh la[;k ds vuq:i

(c) lh/ks /kkjk ds vuq:i

(d) lh/ks mldh f=T;k ds vuq:i

47. izsj.k eksVj esa] jksVj iz[kkaps vkerkSj ij 'kk¶V ds lekUrj ugha

gksrs

(a) 'kfDr xq.kd dks c<+krk gSA

(b) ;g n{krk dks c<+krk gSA

(c) jksVj ds nkarks dks LVsVj ds nkarks ds uhps jgus eas lgk;d

gksrk gSA

(d) jksVj dh nkarkas dh LVsVj ds nkarks ds uhps jgus dh izo`fÙk

dks de djus esa lgk;d gksrk gSA

48. ;fn 10 F la/kkfj= dks V(t) = 50 sin2000t V ds oksYV

L=ksr ls tksM+ fn;k tk,] rks la/kkfj= eas izokfgr /kkjk fdruh

gksaxh

(a) 610 cos2000t (b) 45 10 cos2000t
(c) cos2000t (d) 500cos2000t

49. Ükà[kyk vuquknh ifjiFk eas] vk/kh 'kfDr vko`fÙk;ksa ij izfrck/kk

fdruh gksrh gS&

(a) 2R (b)
R

2

(c) 2R (d)
R

2

43. Diversity factor has direct effect on the

(a) Operating cost of unit

(b) Fixed cost of the unit generated

(c) Variable cos of the unit generated

(d) Both variable and fixed cost of unit generated

44. Regulation of an alternative supplying resistive or

inductive load is

(a) infinity (b) always negative

(c) always positive (d) zero

45. The highest transmission ac voltage in India is

(a) 1750 kV (b) 132 kV

(c) 220 kV (d) 400 kV

46. Point out the WRONG statement

The magnetising force at the centre of a circular

coil varies

(a) inversely as its radius

(b) directly as the number of its turns

(c) directly as the current

(d) directly as its radius

47. The rotor slots, in an induction motor are usually

not quite parallel to the shaft because it

(a) improves the power factor

(b) improves the efficiency

(c) helps the rotor teeth to remain under the stator

teeth

(d) helps in reducing the tendency of the rotor teeth

to remain under the stator teeth

48. If a 10 F  capacitor is connected to a voltage

source with v(t) 50sin 2000t V , then the current

through the capacitor is _________ A

(a) 610 cos2000t (b) 45 10 cos2000t
(c) cos2000t (d) 500cos2000t

49. In a series resonance circuit, the impedance at half

power frequencies is :

(a) 2R (b)
R

2

(c) 2R (d)
R

2
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50. ,d 10izfrjks/k Hkkj dks ifj.kkfe= }kjk 6250ds

vkarfjd izfrjks/k okys L=ksr ds izfrck/kk vuq:i cuk;k tkuk

ifj.kkfe= ds izkFkfed vkSj f}rh;d Qsjka s dk vuqikr D;k

gksxk

(a) 25 (b) 10

(c) 15 (d) 20

51. 20 /kzqo okyh 50 Hz L=ksr ls tqM+h rhu&Qst dh eksVj dh

rqY;dkyu xfr fdruh gksrh gS

(a) 1200 rpm (b) 300 rpm

(c) 600 rpm (d) 1000 rpm

52. Ükà[kyk ea izfrjks/kd] izsjd vkSj la/kkfj= ;qDr ifjiFk f
0
Hz dk

vuquknh gSA vc ;fn lHkh ?kVd ekuksa dks nqxquk dj fn;k tk,

rks ubZ vuquknh vko`fÙk fdruh gksxh

(a) 0f

4
(b) 02f

(c) 0f (d) 0f

2

53. ,d 2 cm yEch dq.Myh eas 10 Qsjs gS vkSj 750 mA dh /kkjk

izokfgr gksrh gSA dq.Myh dk pqEcdu cy fdruk gS

(a) 375 AT/m (b) 225 AT/m

(c) 675 AT/m (d) 450 AT/m

54. ,d miHkksDrk 7,00,800 ;wfuV dk okf"kZd [kir djrk gSA

;fn mldh vf/kdre ek¡x 200 kW gks rks Hkkj xq.kd D;k

gksxk

(a) 70% (b) 20%

(c) 40% (d) 50%

55. 3-Qst fo|qr iz.kkyh ds fu/kkZfjr oksYVst dks fdl izdkj n'kkZ;k

tkrk gS

(a) f'k[kj ykbu ds ykbu oksYVst

(b) rms Qst oksYVst

(c) f'k[kj Qst oksYVst

(d) rms ykbu ds ykbu oksYVst

56. v/kZ rjax fn"VÑr T;k rjax ds fy, ÅfeZdk xq.kd D;k gS

(a) 1.00 (b) 1.65

(c) 1.45 (d) 1.21

50. A 10 resistive load is to be impedance matched

by a transformer to a source with 6250 of internal

resistance. The ratio of primary to secondary turns

of transformer should be

(a) 25 (b) 10

(c) 15 (d) 20

51. The synchronous speed of a three phase induction

motor having 20 poles and connected to a 50 Hz

source is

(a) 1200 rpm (b) 300 rpm

(c) 600 rpm (d) 1000 rpm

52. A circuit with a resistor, inductor and capacitor in

series is resonant of of  Hz. If all the component values

are now doubled the new resonant frequency is

(a) 0f

4
(b) 02f

(c) 0f (d) 0f

2

53. A 2 cm long coil has 10 turns and carries a current

of 750 mA. the magnetising force of the coil is

(a) 375 AT/m (b) 225 AT/m

(c) 675 AT/m (d) 450 AT/m

54. A consumer has annual consumption of 700800

units. If his maximum demand is 200 kW. The load

factor will be

(a) 70% (b) 20%

(c) 40% (d) 50%

55. The rated voltage of a 3-phase power system is

given as

(a) peak line to line voltage

(b) rms phase voltage

(c) peak phase voltage

(d) rms line to line voltage

56. For a half wave rectifier sine wave the ripple factor

is

(a) 1.00 (b) 1.65

(c) 1.45 (d) 1.21
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57. vko`fÙk vkSj la/kkfjrk ds Hkh ekiu ds fy, vkerkSj ij

fuEufyf[kr eas ls fdl lsrq dk iz;ksx fd;k tkrk gS\

(a) fo,u lsrq (b) gs lsrq

(c) vksosu lsrq (d) 'ksfjax lsrq

58. jsat (0–300V) ds nks oksYVehVj ,d ,-lh- ifjiFk esa lekUrj

tqM+s gSaA ,d oksYVehVj lpy ykSg Vkbi dk gS vkSj 200V iBu

djrk gSA ;fn nwljk PMMC midj.k gks rks mldk iBukad

D;k gksxk

(a) 127.4 V (b) 200 V ls dqN de

(c) 'kwU; (d) 222 V

59. 3, 4 rkj iz.kkyh ls Hkkfjr vlarqfyr Hkkj }kjk iz;qDr fctyh

dh dqy [kir dks ekius ds fy, U;wure fdrus 1-okWVehVjkas

dh vko';drk gksxh

(a) 4 (b) 1

(c) 2 (d) 3

60. vkÑfr es a L vkSj M fcUnqvka s ds chp dqy /kkfjrk fdruh
gS

L P M

1µF

1µF

1µF

2µF N O2µF 2µF

(a) 4.05 F (b) 1.45 F

(c) 1.85 F (d) 2.05 F

61. ,d leku pqEcdh; {ks= eas ?kweus okyh dq.Myh esa izsfjr fo|qr

okgd cy (emf) dc U;wure gksxk

(a) tc dq.Myh ik'oks± }kjk drZu vfHkokg dh nj U;wure gksA

(b) tc dq.Myh ls laca) vfHkokg vf/kdre gksA

(c) tc vfHkokg lac)rk dh ifjorZu nj U;wure gksA

(d) tc vfHkokg lac)rk dh ifjorZu nj vf/kdre gksA

62. ;fn RL Ükà[kyk ifjiFk eas izfrjks/k 20vkSj izsjdRo 2H gS]

rks bl ifjiFk dk dky fLFkjkad D;k gksxk

(a) 100s (b) 0.001s

(c) 0.1s (d) 10s

57. Which one of the following bridges is generally

used for measurement of frequency and also

capacitance?

(a) Wein bridge (b) Hay’s bridge

(c) Owen’s bridge (d) Schering bridge

58. Two voltmeter of (0-300 V) range are connected

in parallel to a A.C. circuit. One voltmeter is moving

iron type reads 200 V. If the other is PMMC

instrument, its reading will be

(a) 127.4 V (b) slightly less 200 V

(c) Zero (d) 222 V

59. The least number of 1   wattmeters required to

measure total power consumed by an unbalanced

load fed from a 3 , 4 wire system is

(a) 4 (b) 1

(c) 2 (d) 3

60. Total capacitance between the points L and M in

figure is

L P M

1µF

1µF

1µF

2µF N O2µF 2µF

(a) 4.05 µF (b) 1.45 µF

(c) 1.85 µF (d) 0.05 µF

61. EMF induced in a coil rotating in a uniform magnetic

field will be maximum when the

(a) Rate of cutting flux by the coil sides is minimum

(b) Flux linking with the coil is maximum

(c) Rate of change of flux linkage is minimum

(d) Rate of change of flux linkage is maximum

62. If resistance is 20  and inductance is 2H in a RL

series circuit, then time constant of this circuit will be

(a) 100s (b) 0.001s

(c) 0.1s (d) 10s
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63. tc rhu Qst dh izsj.k eksVj ds ?kw.kZd dks vo:) dj fn;k tkrk

gS] rks liZ.k fdruk gksrk gS

(a) 1 (b) 0

(c) 0.1 (d) 0.5

64. 3-Qst rqY;dkfyd tujsVj dh /kukRed] _.kkRed vkSj 'kwU;

vuqØe izfrck/kk Øe'k% j0.5 p.u., j0.3 p.u. vkSj j0.2 p.u.

ml le; gksrh gS tc e'khu VfeZuyksa ij lefefr nks"k gksrk gSaA

nks"k /kkjk Kkr dhft, tc tujsVj U;wVªy j0.1 p.u. ds

izfr?kkr ls gksdj HkwlaifdZr gks

(a) –j 3.33 pu (b) –j 1.67 pu

(c) –j 2.0 pu (d) –j 2.5 pu

65. RLC ifjiFk eas R dk eku fdruk gksus ij {kf.kd /kkjk nksyuh

gksrh gS

(a)
C

2
L

ls vf/kd (b)
L

2
C

ls de

(c)
C

2
L

ls de (d)
L

2
C

ls vf/kd

66. Hkkj /kkjk ds vkSlr eku ds fy, fdleas /kkjk drZu ckj&ckj

gksrk gS

(a) VCB's (b) OCB's

(c) ACB's (d) SF
6
CB's

67. BJT dks lar`fIr {ks= eas ifjpkfyr gksuk dc dgk tkrk gS

(a) tc nksukas taD'ku vxz vfHkur gks

(b) tc nksukas taD'ku izrhi vfHkur gks

(c) tc ch-bZ- taD'ku izrhi vfHkur gks vkSj ch-lh- taD'ku

vfHkur gks

(d) tc ch-bZ- taD'ku vxz vfHkur gks vkSj ch-lh- taD'ku

izrhi vfHkur gks

68. 9H vkSj 4H dh nks ;wfuVh ;qfXer dq.Mfy;kas ds chp ikjLifjd

izsjdRo fdruk gksxk

(a) 36 H

(b) 2.2 H

(c) 6 H

(d) 13 H

63. When the rotor of a three phase induction motor is

blocked the slip is

(a) 1 (b) 0

(c) 0.1 (d) 0.5

64. The positive, negative and zero sequence

impedances of 3-phase synchronous generator are

j 0.5 pu, j 0.3 pu and j 0.2 pu respectively. When

symmetrical fault occurs on the machine terminals.

Find the fault current. The generator neutral is

grounded through reactance of  j0.1 pu

(a) –j 3.33 pu (b) –j 1.67 pu

(c) –j 2.0 pu (d) –j 2.5 pu

65. Transient current in RLC circuit is oscillatory when

the value of R is

(a) more than
C

2
L

(b) less than
L

2
C

(c) less than
C

2
L

(d) more than
L

2
C

66. For average values of load current, current chopping

occurs more frequently in

(a) VCB's (b) OCB's

(c) ACB's (d) SF
6
CB's

67. A BJT is said to be operating in the saturation region

if

(a) Both the junctions are forward biased

(b) both the junctions are reverse biased

(c) B-E junction is reverse biased and B-C junction

is forward biased

(d) B-E junction is forward biased an B-C junction

is reverse biased

68. The mutural inductance between two unity coupled

coils of 9 H and 4 H will be

(a) 36 H

(b) 2.2 H

(c) 6 H

(d) 13 H
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69. Hkw&laidZu ds laca/k eas uhps n'kkZ, x, C fcanq ij oksYVst Kkr
dhft,

C

100

50
120 V

(a) 80 V (b) 120 V

(c) 40 V (d) 71 V

70. vf/kdre fo|qr varj.k dh fLFkfr;ksa eas ifjiFk eas lkekU;r% izkIr

n{krk fdruh gksrh gS

(a) 100% (b) 25%

(c) 50% (d) 75%

71. ,d /kkrq oy; ls f?kjs ok;q ds ek/;e eas pqEcd j[kk x;k gSA

pqEcd ls cy pqEcdh; js[kk,¡ dSlh gkasxh

(a) oy; eas cgqr de

(b) oy; eas ladqfyr

(c) oy; ls xqtjus okyh

(d) oy; ds Hkhrj leku forfjr

72. dkSu&lh v/kZpkyd ;qfDr ,l-lh-vkj- ds leku O;ogkj djrh

gS\

(a) Triac (b) MOSFET

(c) JFET (d) UJT

73. izfr 'R'ds rhu izfrjks/kd rkj esa tqM+s gq, gSA lerqY; MsYVk

ls tqM+s izfrjks/kdkas dk eku D;k gksxk

(a) 3R (b)
R

2


(c) 2R (d)
R

3


74. vf/kjksi.k izes; dk iz;ksx ,dek= fdlds fy, fd;k tk ldrk
gS

(a) f}ikf'Zod usVodZ

(b) jSf[kd usVodZ

(c) vjSf[kd usVodZ

(d) jSf[kd f}ikf'Zod usVodZ

69. Determine the voltage at point C shown below with

respect to ground

C

100

50
120 V

(a) 80 V (b) 120 V

(c) 40 V (d) 71 V

70. The efficiency normally obtained in a circuit under

the conditions of maximum power transfer is

(a) 100% (b) 25%

(c) 50% (d) 75%

71. A magnet is kept in the medium of air surrounded

by an iron ring. The magnetic lines of force from

the magnet will be

(a) Very small in the ring

(b) Crowded in the ring

(c) Passing out of the ring

(d) Evently distributed within the ring

72. Which semiconductor device behaves like two

SCR's?

(a) Triac (b) MOSFET

(c) JFET (d) UJT

73. Three resistors, each of ‘R’  are connected in
star. What is the value of equivalent delta connected

resistors

(a) 3R (b)
R

2


(c) 2R (d)
R

3


74. Super position theorem can be applied only to

(a) bilateral networks

(b) linear networks

(c) non-linear networks

(d) linear bilateral networks
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75. Moving coil (PMMC) and moving iron instruments

can be distinguished by observing its

(a) size of terminals (b) pointer

(c) range (d) scale

76. In a fluorescent tube circuit, the function of choke

is primarily to

(a) improve the brightness

(b) initiate the discharge

(c) reduce the flicker

(d) reduce the starting current

77. The magnetic field energy in an inductor changes

from maximum value to minimum value in 5 m sec

when connected to an A.C. source. The frequency

of the source is

(a) 500 Hz (b) 20 Hz

(c) 50 Hz (d) 200 Hz

78. The distribution losses that the utility suffers while

transferring power from generating station to the

consumer is accounted under

(a) Maintenance cost (b) Fixed charges

(c) Running charges (d) Cost of fuel

79. The magnetic potential difference in a magnetic

circuit is given by

(a) BlH (b) HJl

(c) Bl (d) Hl

80. Two electric bulbs have tungsten filament of same

thickenss. If one of them gives 60 W and the other

gives 100 W, then

(a) 60 W and 100 W lamp filaments have equal

length

(b) 60 W lamp filament has shorter length

(c) 100 W lamp filament has longer length

(d) 60 W lamp filament has longer length

81. A capacitor with no initial charge at t =  acts

(a) Open-Circuit (b) Voltage Source

(c) Current Source (d) Short-Circuits

75. lpy dq.Myh (PMMC) vkSj lpy ykSg midj.kkas dks D;k

ns[kdj igpkuk tk ldrk gS

(a) VfeZuykas dk vkeki (b) ladsrd

(c) ijkl ¼jsat½ (d) vuqeki

76. izfrfnIr'kyh ¼¶yqvksjkslsaV½ V~;wc ifjiFk eas] pksd dk dk;Z

izkFkfed :i ls D;k gS

(a) V~;wc dh ped dks c<+kuk

(b) fuLlj.k dks izkjEHk djuk

(c) LQqj.k dks de djuk

(d) izorhZ /kkjk dks de djuk

77. izsjd esa pqEcdh; {ks= ÅtkZ ,-lh- L=ksr ls tksM+s tkus ij 5 m

sec esa vf/kdre eku ls U;wure eku eas cny tkrh gSA L=ksr

dh vko`fÙk fdruh gS

(a) 500 Hz (b) 20 Hz

(c) 50 Hz (d) 200 Hz

78. fo|qr dEifu;ksa dks tujsfVax LVs'ku ls miHkksDrk dks fo|qr dk

varj.k djrs le; gksus okyh gkfu;kas dks fdl 'kh"kZ esa ys[kkafdr

fd;k tkrk gS

(a) vuqj{k.k ykxr (b) fu;r izHkkj

(c) pkyw izHkkj (d) b±èku dh ykxr

79. pqEcdh; ifjiFk eas pqEcdh; foHko varj dks fdlls n'kkZ;k tkrk

gS

(a) Bl H (b) HJl

(c) Bl (d) Hl

80. nks fo|qr cYckas eas leku eksVkbZ ds VaxLVu fQykesaV gSA ;fn mueas

ls ,d 60W nsrk gS vkSj nwljk 100W rks

(a) 60W vkSj 100W ySEi fQykesaV cjkcj yEckbZ ds gS

(b) 60W ySEi fQykesaV de yEckbZ dk gS

(c) 100W ySEi fQykesaV vf/kd yEckbZ dk gS

(d) 60W ySEi fQykesaV cM+h yEckbZ dk gS

81. t = ij 'kwU; Økafr vkos'k okyk la/kkfj= D;k dk;Z djrk gS

(a) [kqyk ifjiFk (b) oksYVst L=ksr

(c) /kkjk L=ksr (d) y?kq ifjiFk
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82. Danger 440 V plates are

(a) informal notices (b) danger notices

(c) caution notices (d) advisory notices

83. Find R
3
 for the circuit shown in figure

R1

R2 R3
100 k

10 mA 40 mA

(a) 25 mega ohm (b) 25 milli ohm

(c) 25 ohm (d) 25 kilo ohm

84. The purpose of choke in a fluorescent tube is to

(a) increase voltage momentarily

(b) decrease current

(c) increase current

(d) decrease volatage momentarily

85. A 3-phase 4 pole induction motor works on 3-phase

50 Hz supply. If the slip of the motor is 4%. The

actual speed will be

(a) 720 rpm (b) 1550 rpm

(c) 1460 rpm (d) 1440 rpm

86. As per IE rules the permissible variation of voltage

at the consumer end is

(a) ± 6% (b) ± 10%

(c) ± 12% (d) ± 2%

87. In which single-phase motor, the rotor has no teeth

or winding

(a) Universal motor (b) Split phase motor

(c) Reluctance motor (d) Hysteresis motor

88. Two DC series motors connected in serries draw

current I from supply and run at speed N. When the

same two motors are connected in parallel taking current

I from the supply, the speed of each motor will be

(a)
N

2
(b) N

(c) 2N (d) 4N

82. "[krjk 440V" dh IysVs D;k gksrh gS

(a) vukSipkfjd lwpuk,¡ (b) [krjk lwpuk,¡

(c) lko/kkuh lwpuk,¡ (d) ijke'kZ lwpuk,¡

83. vkÑfr eas n'kkZ, x, ifjiFk ds fy, R
3
Kkr dhft,&

R1

R2 R3
100 k

10 mA 40 mA

(a) 25 esxk vksã (b) 25 feyh vksã

(c) 25 vksã (d) 25 fdyks vksã

84. izfrnhfIr'khy ¼¶yqvksjkslsaV½ V~;wc eas pksd dk iz;kstu D;k gS

(a) oksYVst dk {kf.kd c<+kuk

(b) /kkjk dks ?kVkuk

(c) /kkjk dks c<+kuk

(d) oksYVst dks {kf.kd ?kVkuk

85. ,d 3-Qst 4 /kzqoh; izsj.k eksVj 3-Qst 50 c/s lIykbZ ij

pyrh gSA ;fn eksVj dk liZ.k 4% gS] rks okLrfod xfr

fdruh gksxh

(a) 720 rpm (b) 1550 rpm

(c) 1460 rpm (d) 1440 rpm

86. IE fu;ekas ds vuqlkj miHkksDrk ds fy, vuqKs; oksYVst fofHkUurk

fdruh gS

(a) ± 6% (b) ± 10%

(c) ± 12% (d) ± 2%

87. fdl ,dy dyk eksVj eas] jksVj ds dksbZ nkars ;k dq.Myu ugha

gksrk

(a) lkoZf=d eksVj (b) foHkDr dyk eksVj

(c) izfr"VHk eksVj (d) fgLVsjsfll eksVj

88. Ükà[kyk esa tqM+h nks DC Ükà[kyk eksVj lIykbZ ls /kkjk I ysrh gS

vkSj xfr N ij pyrh gSA tc bUgha nks eksVj dks lIykbZ /kkjk

I ysdj lekUrj tksM+ fn;k tk,] rks izR;sd eksVj dh xfr fdruh

gksxh

(a)
N

2
(b) N

(c) 2N (d) 4N
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89. Using Millman’s theorem, find the current through

the load resistance LR of 3  resistance shown below

RL



8V 16V 24V

(a) 12 A (b) 4 A

(c) 6 A (d) 8 A

90. An ideal votlage source should be

(a) infinite source resistance

(b) large value of emf

(c) small value of emf

(d) zero source resistance

91. Consider a constant uniform magnetic field. A

conductor moves across this field at a constant

velocity. The emf induced in the conductor is

termed as

(a) Self-Induced emf

(b) Induced emf

(c) Statically Induced emf

(d) Dynamically Induced emf

92. A generating station supplies the following loads

15000 kW, 12000 kW, 8500 kW, 6000 kW and 450

kW. The station has maximum demand of 22000

kW. Calculate the diversity factor

(a) 1.91 (b) 0.52

(c) 0.52 (d) 1.34

93. A magnetic circuit carries a flux 
i
, in the iron

part and a flux 
g
 in the air gap. Then leakage

coefficient is

(a) i g  (b) i

g




(c)
g

i




(d) g i 

89. fefyeSu izes; dk iz;ksx djds uhps n'kkZ, x, 3izfrjks/k R
L

eas izokfgr /kkjk Kkr dhft,

RL



8V 16V 24V

(a) 12 A (b) 4 A

(c) 6 A (d) 8 A

90. ,d vkn'kZ oksYVst L=ksr eas D;k gksuk pkfg,

(a) vifjfer L=ksr izfrjks/k

(b) fo|qr okfgr cy dk o`g~r eku

(c) fo|qr okfgr cy dk y?kq eku

(d) 'kwU; L=ksr izfrjks/k

91. ,d leku pqEcdh; {ks= ij fopkj dhft,A ,d pkyd bl {ks=

ij fu;r osx ij ?kwerk gSA pkyd eas izsfjr fo|qr okfgr cy

(emf) dks D;k dgrs gSa

(a) Lo&izsfjr fo|qr okfgr cy

(b) izsfjr fo|qr okfgr cy

(c) LFkSfrd :i ls izsfjr fo|qr okfgr cy

(d) xfrd :i ls izsfjr fo|qr okfgr cy

92. ,d tujsfVax dsUnz fuEufyf[kr Hkkj dh lIykbZ djrk gSA

15000 kW, 12000 kW, 8500 kW, 6000 kWvkSj 450

KW dsUnz dh vfèkdre ek¡x 22000 kW dh gSA fofHkUurk

xq.kd dk ifjdyu dhft,

(a) 1.91 (b) 0.52

(c) 0.52 (d) 1.34

93. ,d pqEcdh; ifjekfi esa ykSg Hkkx eas vfHkokg 
i
vkSj ok;q eas

vfHkokg 
g
izokfgr gksrk gSA fjlko xq.kkad fdruk gS

(a) i g  (b) i

g




(c)
g

i




(d) g i 
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94. The maximum demand of a consumer is 2kW and

his daily energy consumption is 20 units. Load

factor is

(a) 21% (b) 10.15%

(c) 41.6% (d) 50%

95. A wheat stone bridge has ratio arm of 1000  and

100  resistances, the standard resistance arm

consists of 4 decade resistance boxes of 1000, 100,

10, 1  steps. The maximum and minimum value

of unknown resistance that can be determined with

this setup are

(a) 111100 , 10  (b) 111100 , 1 

(c) 11110 , 10  (d) 10000 , 10 

96. Thevenin’s equivalent voltage and resistance

between the terminal A and B for network of given

figure is

10V 20V
A

B

(a) 2.5 V, 12.5  (b) 2.5 V, 3.75 

(c) 12.5 V, 3.75  (d) 12.5 V, 2.5 

97. Low frequency operation of AC series motor in

traction application

(a) Improves its commutation but starting current

increases

(b) Improves its commutation property but pf and

reduces

(c) Improves its commutation, pf and efficiency

(d) Adversely affects commutation but pf and 

improves

98. The speed of a p-pole synchronous machine in rpm

is given by

(a) 120f P (b)
120f

P

(c)
120P

f
(d) 120f P

94. miHkksDrk dh vf/kdre ek¡x 2 kW gS vkSj mldh nSfud ÅtkZ

[kir 20 ;wfuV gSA mldk Hkkj xq.kd D;k gksxk

(a) 21% (b) 10.15%

(c) 41.6% (d) 50%

95. ,d OghV Lvksu lsrq eas 1000vkSj 100izfrjks/k dh

vuqikr Hkqtk,¡ gS] ekud izfrjks/k Hkqtk eas 1000, 100, 10,

1lksikukas ds 4 n'kd izfrjks/k cDls gksrs gSaA bl O;oLFkk ls

ftu vKkr izfrjks/kks a dk vf/kdre vkSj U;wure eku Kkr

fd;k tk ldrk gS ds izfrjks/k crkb,

(a) 111100, 10 (b) 111100, 1

(c) 11110, 10 (d) 10000 , 10 

96. nh xbZ vkÑfr ds usVodZ ds fy, VfeZuy A vkSj B ds chp

Fksfofuu lerqY; oksYVst vkSj izfrjks/k D;k gksxk

10V 20V
A

B

(a) 2.5 V, 12.5  (b) 2.5 V, 3.75 

(c) 12.5 V, 3.75  (d) 12.5 V, 2.5 

97. lad"kZ.k vuqiz;ksx esa AC Ükà[kyk dh eksVj ds fuEu vko`fÙk

izpkyu ls D;k gksrk gS

(a) mldk fnd~ ifjorZu c<+rk gS ysfdu /kkjk c<+rh gS

(b) mldk fnd~ ifjorZu c<+rk gS ysfdu pf vkSj n ?kVrk gS

(c) mldk fnd~ ifjorZu] pf vkSj n{krk c<+rh gS

(d) fnd~ ifjorZu ij izfrdwy izHkko iM+rk gS ysfdu pf vkSj

n c<+rk gS

98. p-/kq zo rqY;dkfyd e'khu dh xfr rpm esa fdlls n'kkZ;h

tkrh gS

(a) 120f P (b)
120f

P

(c)
120P

f
(d) 120f P
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99. fuEufyf[kr esa ls fdl eksVj esa mPp izorZu cy&vk?kw.kZ gksrk

gS&

(a) rqY;dkfyd eksVj

(b) AC Ükà[kyk eksVj

(c) DC Ükà[kyk eksVj

(d) izsj.k eksVj

100. la/kkfj= ikjkrfj= ¼VªkalV~;wljkas½ ls ekis tk ldus okys U;wure

foLFkkiu dk Øe D;k gS&

(a) 1 × 10–12m (b) 1 cm

(c) 1 mm (d) 1 m

99. Which of the following motor has high starting

torque?

(a) synchronous motor

(b) AC series motor

(c) DC series motor

(d) induction motor

100. What is the order of minimum displacement that

can be measured with capacitive transducers

(a) 121 10 m (b) 1cm

(c) 1mm (d) 1 m



1 B 2 C 3 * 4 C 5 B

6 D 7 D 8 B 9 D 10 A

11 C 12 C 13 C 14 A 15 B

16 D 17 C 18 D 19 C 20 B

21 C 22 C 23 C 24 B 25 B

26 A 27 A 28 B 29 B 30 B

31 D 32 D 33 C 34 A 35 D

36 D 37 C 38 B 39 B 40 C

41 D 42 C 43 B 44 C 45 D

46 D 47 D 48 C 49 C 50 A

51 B 52 D 53 A 54 C 55 D

56 D 57 A 58 C 59 D 60 D

61 D 62 C 63 A 64 B 65 B

66 A 67 A 68 C 69 C 70 C

71 B 72 A 73 A 74 D 75 D

76 B 77 C 78 C 79 D 80 D

81 A 82 C 83 D 84 A 85 D

86 A 87 D 88 D 89 B 90 D

91 D 92 A 93 B 94 C 95 C

96 C 97 C 98 B 99 C 100 D

Answer Key
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Solution
1. (b)

Illumination,

E 2

Icos

r




 0 

r 10 m

I 800 candela
Putting these values, then

E
2

2

800cos
8 lux (lumex / m )

10


 

2. (c)

To cool the machine

3. (*)

A

B

R

R
A

B


l

l


800

100
A

B


l

l

 l
A B8 l

So, no option matches

4. (c)

The expression for I(s) for series RLC circuit is given

as (in Laplace or s-domain)

I(s)
2

V(s)
R 1

L s s
L RC


   
 

 I(s)
2

50
5 1

0.5 s s
0.5 0.5 0.08


    

 I(s) 2

100

(s 5)



i(t) 1 1
2

100
L (I(s)) L

(s 5)
       

i(t) 5t100te
6. (d)

S
V

1000
Volt




S
V

m

FSD

R
1000

R
 

V
SFD

100V

R
m 1000 100 100 k   

I
m

m

V

R


 FSDV
V

2


100
50V

2
 

I
m 3

50
A 0.5 mA

100 10
 



7. (d)

Given,

A

star

ph

ph

N

N star

ph

ph

V a

V 1
 

 phV
 LV




and
starphV L*V

3


Putting these values in equation (1)

star

ph

ph

V

V


star

L

L

V a

1V / 3
 

L

L*

V

V
 a

3


or
*

L

V

V




3

a


9. (d)

Power factor,

c o s 
R

Z


2 2

(5 3)

(5 3) (6)




 


8

10
0.8

P.F. lag (due to inductive circuit).
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10. (a)

cos 
R

Z


11. (c)

Phase advancer because at leading power factor, the

synchronous motor is overexcited.

12. (c)

Given, V 150V

R
a

0.4 

E
b 142V

Armature current

I b

a

V E

R




150 142
20A

0.4


 

13. (c)

Advantage of lower peak inverse voltage requirement.

PIV for 4 bridges,

FWR mV

PIV for 2 bridges,

FWR m2V

14. (a)

160 RPM

15. (b)

R
t

2

2

V
R

P
 

2200
400

100
  

I
200

0.25A
400 400
 



Lamp-1 Lamp-2

200 V

Power consumed by each Lamp

2 2
1 2I R I R   
2(0.25) 400 25 Watt  

17. (c)

Power factor,

cos  1 Q
cos tan

P
   

 

1 80
cos tan

60
   

 

0.6 (Lag)

21. (c)

Range of
1

3
2

 digital voltmeter is from 0 to 1999.

23. (c)

It is used for both urban and suburban service but

prefer urban service.

34. (a)

For RL circuit,

i

L
(t) t /T

L L Li ( ) [i ( ) i (0 )]e     

i
L
()

10
10A

1
 

At inductor at t =is short circuited.

i
L
(0+) 0

Time constant,

T
L 0.01

0.01
R 1
  

i
L
(t) t /0.0110 (10 0)e  

i
L
(t) 100t10 10e A 

36. (d)

 i
L

t1
V(t)dt

L 
 

0 t

0

1
V(t)dt V(t)dt

L 

    
0 5 2

0

1
0dt 30t dt

5 

    
53

0

1 t
30

5 3

  
   

  
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1 1
30 125 250 Amp

5 3
    

Energy stored in an inductor

E
2
L

1
Li

2


21
5 (250)

2
  

156.25 kJ

37. (c)

Inductance of solenoid is given as

L
2

0N A

L




A =  A r e a  o f  c o r s s - s e c t i o n  = r2

22
23 10

m
2

 
  
 

L 30 cm

230 10 m 

L
7 2 2 2

2

4 10 (1000) (3 10 / 2)

30 10





   




 L 32.9608 10 Henry 

E
L

21
LI

2


3 21
2.9608 10 10

2
   

0.1480 0.15 Joule 

38. (b)

Reserve capacity

R
C C maxP P 0  

 P
C maxP

41. (d)

By applying current division rule

I
5

2
10

5 2
 



2.85A

43. (b)

Load factor and diversity factor both has direct

effect on fixed cost of the unit generated

48. (c)

i
c

cdV
C

dt


= 10 × 10–6
d

dt
(50 sin 2000t)

i
c
= cos 2000 t Amp

49. (c)

At half power frequency

1
L

L
 


R 

Z
2

2 1
R L

L
      

2 2R ( R) 2 R   

50. (a)

Let, R
1 s6250 R  

R
2 LR 10  

Then referring the R
L
 = 10on the primary side for

matching with the source resistance.

V

N1 N2

R
L

2

2
2 1

1

N
R R

N
    
 

 10
2

2

1

N
6250

N
   
 


2

1

2

N

N
 
 
 

625


1

2

N

N
25
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51. (b)

N
s

120f

P


120 50
300 rpm

20


 

52. (d)

10f
1 1

1

L C


L
2 12L

and C
2 12C

20f
1 1 1 1

1 1

2L 2C 2 L C
 



1

2

0

0

f

f
2


20f 10f

2


53. (a)

Magnetising force,

H
NI

L


2

10 750

2 10





375 AT / m

54. (c)

Load factor,

P
LF

avg

max

P

P


P
avg

Annual consumption

24 365




700800
kW

24 365




P
LF

700800
0.4

24 365 200
 

 
58. (c)

PMMC instrument are used only for DC current and

voltage. For AC supply, no deflection will be there

due to instantanerous opposite torques.

60. (d)

C
eq  ((2 ||1) 2) ||1 2 ||1  

2.05 F 

62. (c)

T
L

R


2
0.1 sec

20
 

63. (a)

In block condition

N
r

0

s s r

s

N N

N




s

s

N 0
1

N


 

64. (b)

For symmetrical fault,

I
f

1 n

E

Z Z



E 1 p.u.

and Z
1

0.5 j

or Z
n

0.1 j

I
f

1

0.5j 0.1j




 I
f j1.67 p.u. 

65. (b)

 < 1for oscillatory circuit …(1)

2 R 1
s s

L LC
  0

2
n

R

L


and 
n

1

LC


Putting these values in equation (1)

2
n

R

L

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
n

R R
12L 2L
LC

 



R C

2 L


 1


R C

2 L
1

 R
C

2
L



68. (c)

K
1 2

M

L L


 K 1

M 1 2L L

9 4 6 H  

69. (c)

I
120

100 50



12

0.8A
15
 

120 V

V A

B

C NC

I

Let voltage at C is V
C

Then, 120 – 100 I – V
C

0

V
C

40 V

73. (a)

R 3R (for equal phase resistance)

74. (d)

Linear bilateral network

75. (d)

The scale of moving iron instrument is cramped

77. (c)

If T is the time period of source, then energy changes

maximum to minimum value in
T

seconds
4

 i.e.,

 T

4
35 10 

 T 34 5 10 20 ms   

 3

1 1
50 Hz

T 20 10
  



79. (d)

Magnetic potential difference is called MMF also and

flux,

 B.A

Flux ()
MMF

Reluctance


o

MMF

L / A




MMF
oA (B / H)A

 
 


l

(B.A) H

B.A




l

MMF H. l

80. (d)

P , R , L  
For more watt bulb, less resistance will be there so,

length of that bulb will be lower.

83. (d)

Current through

R
3

40 mA

 Voltage across R
2 3Voltage across R

R1

R2 R3

10 mA
50 mA

 100 × 103 × 10 × 10–3
3R 40 10  

 R
3

25 k 
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85. (d)

N
s

120f

P


120 50

4




1500 rpm

N
f s(1 s)N 

(1 0.04) 1500  
N

f
1440 rpm

88. (d)

In case of series.

 N bE



N
se

V / 2 V

I 2I
 

V

I

–

In case of parallel

e
b V


se

I

2


N
P

b V

I / 2


 


N
P

2V

I


I
2

I
2

From equation (1) and (2)

N
parallel sp4N

89. (b)

Using Milliman's theorem

E
eq

i i

i

E Y

Y





Y
1

1

3
 

Y
2

1

3
 

Y
3

1

3
 

E
1

8V

E
2 16V

E
3 24V

E
eq

1 1 1
8 16 24

3 3 3 16V
1 1 1
3 3 3

    
 

 

Z
eq

i

1

Y



1
1

(1/ 3) (1 / 3) (1 / 3)
  

 

3

1

Eeq

Now, the circuit becomes
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I
16

4A
3 1
 


92. (a)

Diversity factor

Sum of individual max demand

Max demand


Diversity factor

15000 12000 8500 6000 450
1.91

22000

   
 

94. (c)

P
LI

max

Annual Energy Consumption

24 365 P


 

and P
LF

max

Daily Energy Consumption

24 P




20
0.416 41.6%

2.4 2
  



96. (c)

Let cuurent = I

Applying Kirchoff's law

10 V

A

B

20 V

10 – 5I – 15I – 20 0
20I 10 

I 0.5A 
Vm 10 5I 

10 5( 0.5)  

12.5 V

For Z
th

Z
th

(5 15) 3.75  


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